Multiplication par Puissances de Dix (G)

Trouvez chaque produit.

54 X 10% = 34 x 103 =
96 X 10! = 76 X 103 =
17 x 103 = 1x10'=
17 X 103 = 47 x 103 =
85 x 10% = 76 X 103 =
100 X 10% = 4 %103 =
9% 103 = 82 x 10 =
30 x 103 = 52 X 10% =
21 x 103 = 46 X 10% =
9x 103 = 63 X 10% =
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Multiplication par Puissances de Dix (G) Solutions

Trouvez chaque produit.

54 x 10* =5 400 34 x 10° =34 000
96 x 10* = 960 76 X 10° =76 000
17 x 10* =17 000 1x10'=10

17 x 10°> =17 000 47 x 10°* =47 000
85 x 102 =8500 76 X 10° =76 000
100 x 10* =10 000 4% 10°=4000

9 x10°=9000 82 x 10' =820
30 x 10° =30 000 52 x 10> =15 200
21 x10%*=21000 46 x 10> =4 600
9 x 10°=9 000 63 X 10 =6 300
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